REDAR—YICEHTSEH - ERREKR

1 B8y BRARR—VICHLTEDKIITERZ . RYHATVANEEREDIKREBIET 5,
2 REERE BRR—YREBRAKR—YIRER
3REHRE TUr—NAE
4 RERE  SM3FE11A
5 RAEXR 18WMULDRR(RRE=42—)
6 [EUIRFER  EEHI4SAN(AHEEE 846%)
7 E5tAE OEHBERETST@ERER) EL, RRIFVME2LEMBERALILER. A5 5{E
H100%IZHELIENEENHS.
QEMLEMEEBLNLEA>EEEHEIT. REZEL,
8 2EMFE  HH2F 1A AR—YFTRBRAR—YR =it (FMIE6AHKR)

7 4 1ot

BMKEZE, 3.8%

BEHX,
0.6%

TOE - SRR, 2.




[BRORRPCEDICEATIERICONT]

EgETEL
0.9%

1 fRERR AR

HFEYRETEL
11.6%

i1 KR
[P A ti]:

BEHERE

DHFYRRTEL m2ERTEN

0% 10% 20% 30% 40% 50% 60%  70%

80%  90%  100%

[=] N > 75
M2 BEFTRERELS \é<£§§ufdtl,\

3.5%

)

M2 EERFREZEELCHH
BELD EHEEEELS BHFYBLAL

H30

R2

R3

E3ES|

B ERLAN

0% 10% 20% 30% 40% 50% 60%  70%

80%  90%  100%




[EEIRPRFK—Y OREEKRICDONT]

M3 1EMOEHORR—YOEMEKR

é 4

B3 1EFEOEHORR—YDOEBERR
B T2z mEAThiEMoT-

H30
R1
R2
R3

e

0% 10% 20% 30% 40% 50% 60% 70% 80%  90%  100%

M4 Co14FMISES- RR—YETor=A
B EEY - RAR—YE T oS
F£1~3H,

3nA1~2[A|
5 70 2.8%

B4 C01FERMISES - RR—YZE{T o= ADES
RIR—YE T8 E

BE3ELUE mB@l1~2H w®AHA1~3H
E3hA1~2E B E1~3H

0% 10%  20% 30% 40% 50% 60% 70% 80% 90% 100%

5 FAYHMER

s FAYHRER
B BERER 0 RMEERER
R ) S e 1= k=) b R s O

0% 10% 20% 30% 40% 50% 60% 70% 80% 90%  100%




fle FLEEMETF

BIs D957,

AT, 2.9%  RESTHL,

3.4%

7.4%

fle FLFEBETF

BUEY B RiE BROHHT-HE
B IS DY57 [=Rligzis BRFELSTHLY

4.3%

0% 10% 20%

30% 40% 50% 60% 70% 80% 90%  100%

m7

B AR—VE{ToI-EH
(ABEE, EAi57E)

67.6%

7 B RR—YETo-ER(EREE. £Ai5E)
EH30 BR1 @R2 ER3

o/ | Fv g
60.0% 51.6% 50.5% RANEDXRGR
40.0% - LB ERHE
24.6%
” 19.6%
200% - I l HLASHSL
0, 9%
0.0% - T T T T “ 56.5%
i & % ” ® BnTE 2%
53 g L ES A 8.8%
»B F # £ & o
1; 7 2 gg 2 REEOEADY S
'<5 E ﬁé’é i f ! ! ! ! ! ! 7.6%
Y ! 0.0% 10.0% 20.0% 30.0% 40.0% 50.0% 60.0% 70.0% 80.0%
B8 SEEEMEEAToTHELES-X M8 EENRIEENSERIToTHILEE RK—Y
R—y (EHEE. LhisHE) (BEE, EA5H)
60.1% BR1 @R2 ER3
60.0% -

40.0%

20.0%

0.0%

4

4

1

29.2%

20.6% 18.1%

G-
S

Mg 3

G
<

= [

nMEVY

ER#E

65,4%
2.5%
60.1%

60.0%

A=y

0.0% 10.0% 20.0% 30.0% 40.0% 50.0% 70.0%




o EE®-RR—vEThinof-EA
(AHE%E E455E)

0% T51.6% 51.6%

50.0%
40.0%
30.0%
20.0% 5 1%
0.0% T
it # 8 i z
L = )] Tk D
AN mn A 2N 1
2 % w %
= 7% ‘\lj [
1= H
Ik
%

o E&- AAR—VEfTHEMo-EH
(A E & LAisHE)
ER1 @R2 WR3
zoth

BBRAVZLY

BRI RR—Y ALY

BEMEMor

70.5%
ftLm>fz

T T T T T T T

T
0.0% 10.0% 20.0% 30.0% 40.0% 50.0% 60.0% 70.0% 80.0%

10 EE- RAR—YZETHEA DTz A,
SERTOTHEVLO (MBEE E4I55E)

70.0%

65.6%
60.0% -
50.0% -
40.0% - 970
30.0% -
| 17.2%
20.0% 12.5%12.5%
10.0% -
0.0% -
- I} &+
\ % H NS
N 8 % =

E10 E&-RR—VEThEM AN, &
fToTHLLD (EHEE L A57E)

ER1 @R2 ER3

REVIVIN

T2

BUVBREL

BR#E

(Z3-3

7.4%
9=y 59.5%
65.6%

60.0% 70.0%

0.0% 10.0% 20.0% 30.0% 40.0% 50.0%

11 E8) - RAR—VEFTSBERNHIIL.
BBV LD GESRERS)

M12 CALGMEAREShAIE, BB ZK—Y
5
oo% 62.8% 62.8%

60.0% -

50.0% -

40.0% -

30.0%

20.0%

10.0% -

0.0% -




[ TORFE—VIZBETBZEIDIT)

13 CO15EMTHEDRAR—YTE~AS
MLf=2¢&RHBYFETH

f13 HIBORXR—YITE~DSMFER
ESHLE=CEAHS  BSMLIzZEMNEN

H29

H30

R1

R2

R3

0% 10% 20% 30% 40% 50% 60% 70% 80% 90%

100%

Hia smLipEBORR—VTE

68.8%
60.0% -
40.0% -
27.1%
20.0% -
12‘5% 10.4% 8.3%
. A B 0 mm
& f 2 % t
2
i $ Y 7 2
B Y 2 b
x 5t
2

fE15 ML TH=LMBIRORR—YITHR

40.0% -

30.1%
27.5%

30.0% -

22.9%21.7%
19.4%

20.0% -

10.0% -

0.0% -

s & i ’ * 2
m 7 5 % ¥ R
L 2 7 35 P I
1 ® Z < 7 Y
& 2 st

2

f15 ML THEL gD RR—Y{TE
ER1 BR2 BR3

4.2%

AR—VEFRE

T

#ES<Y

EhTA

BERHEAR

SmLr=<iw

0.0% 10.0% 20.0%




Fl16 BEBRMIBZRR—YI5TEH>TLD

16 REBMBAR—YISTOERME
BEHOTLS mASLL

H29

H30

R1

R2

R3

0% 10%  20% 30% 40% 50% 60% 70% 80%  90%  100%

17 RR—VHEZEEZMO>TD

17 RR—VHEEREOBME
BEI-TLS

SRy (A
H29
H30
R1

R2

R3

0% 10%  20% 30% 40% 50% 60% 70% 80%  90%  100%

f18 EDLSHREREBTh(IHBETOIR—Y
FEBITSMLPI <GS0 (EREE)

0,
42.0% 38.6%

40.0% -
30.0%
20.0%
10.0% -
0.0% - T

50.0% 4

38.0%  357%

% <« & #

2 3 B Ay

il £ h it
~

A ® 3 h
P H

[N %

g m

, .

FO




[RF—VBERPRAR—YRFFT17ICDONT]

19 RR—YDHBEFHE 19 AR—YDOBEHE
BERMEE BTVt BEREAERGL

H30

R2

R3

e
O ot
E———

0% 10% 20% 30% 40% 50% 60% 70% 80% 90%  100%

f20 &L= RKR—Y (EEHEE L 655E) 21 FLE-SUH AU 8—RyMNETHEL:
ER3 @DR2 AR—Y (EHEE. EArsiE)
44.4%

ER3 @R2

55.7%

9.8% 49.5%

40.0% -

15.0% 13.5% 30.0% -
10.0% % 20.0% -
5.8%
5.0%
0.0% 10.0% -
2 .0%
S % o o 7 7o D
¥ 5 LY S0k
Y h |
h Ie L
| |
'Eziﬁf;?{i’ ":7?’ TI7 Re#T M2 AKR—YRTLTT7 DER
4: 8] N o) _ ’ =g g . 2
‘TT’)T:,4.6% BHEMIZT . BREH Tz BIT->TLVERL

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%




23 RR—YRSTA7ORE
O£E BR3 @R2

39.3%
40% -38:1% °

30%_ -
25.

20% -

il

10% -

0% -

4 2 &
Y 7 5% B
S B
R * 7 & )
| N & PR F
y 2 0 03 =
2 a £ G 0
2 ¥ =5 Yo

fi2a EABZIDITRBNIERR—YRITA4T
FT5M (EHEZE L EI55E)

ER1 @DR2 BR3 O2HE

I TOFEIET

FELRR—YDER

0.0% 5.0% 10.0% 15.0% 20.0% 25.0% 30.0% 35.0% 40.0% 45.0%

25 RABR—YARSUT«T7ZELIE=LHD
L1=0Ly,

fi2s RR—YRSIT1T7 DEBHETL=ULvD

mL7 =LY mELLMEVZIELT=L
BELLMENZIELT=<EL m LI=<AELy
EhMSEL
H30
R1
R2
R3

0% 10% 20%  30% 40%  50% 60% 70%  80%  90%  100%




